6610, SOLUTION, SSC CHSL

Ques 1. ANS (C) Solution:

The correct answer is:

The teacher asked the students, "Have you understood
my question?”

The given statement is in the past perfect tense as
observed by the words 'had understood'. So, the direct
form will be in present perfect tense i.e., it will contain
'have'. We can reject options (B) and (D).

In the sentence, 'her' refers to the speaker which is the
teacher so in the direct form it will be changed to 'my".
Thus, option (A) can be eliminated as well.

Ques 2. ANS (B) Solution:

The correct answer is:

"The judge told Jia to stand in the witness box."

The sentence is in the simple present tense. So the
indirect form will be in the present tense.

Option (A) is in the present continuous tense.

Option (C) is incorrect as the preposition 'to' is
incorrectly used.

Option (D) is incorrect as the second person pronoun
'you' cannot be used in the indirect form.

Ques 3. ANS (B) Solution:

Struggle means a very difficult task. Example: My son is
really struggling in math.

Encounter means a confrontation or unpleasant struggle.

Example: The pilot told us that we might encounter
turbulence during the flight.

Politics mean the activities associated with the
governance of a country or area, especially the debate
between parties having power. Example: Everything we
understood about the world and politics changed.
Speeches (plural of 'speech’) a formal talk that you give
to a group of people. Example: Though not a great
orator, his speeches were weighty and impressive.

The sentence talks about the task or the movement
which is made successful by the policy of non-violence.
The sentence is,

Indian followed a policy of non-violence to make their
struggle successful.

Ques 4. ANS (A) Solution:

The correct sentence is - Although Columbus was not
actually the first European to reach the Americas and
millions of indigenous people already lived there, he has
traditionally been celebrated in the United States as the
discoverer of the Americas.

Celebrated means greatly admired; renowned.

Hated means disliked by many people.

Ignored means to give no attention to something.
Unexalted means uninspired.

Ques 5. ANS (B) Solution:

The correct sentence is- Christopher Columbus landed
on a small island in the Caribbean, which he named San

Salvador and claimed for Spain, the country that had
sponsored his voyage.

Sponsored means to support a person, organization, or
activity by giving money.

Enemy means a person who hates or opposes another
person.

Boycotted means to refuse to buy or handle (goods) as a
punishment or protest.

Competitor means a person who takes part in a sporting
contest.

The sentence is about an explorer who had been
sponsored by his country to explore the world. So the
right word is 'sponsored'.

Ques 6. ANS (C) Solution:

The correct sentence is- On October 12, 1492, the Italian
explorer Christopher Columbus landed on a small island
in the Caribbean.

Explorer means a person who explores a new or
unfamiliar area.

Inventor means one who devises something new.
Scientist means an expert in science.

Shipwright means a shipbuilder.

The sentence is about Christopher Columbus, so the
correct word is ' explorer'.

Ques 7. ANS (D) Solution:

The correct sentence is -- Although Columbus was not
actually the first European to reach the Americas he was
known as the discoverer of the Americas.

Although means in spite of the fact that.

Through is used to show from one end or side of
something to the other.

Because means for the reason that.

For refers to because of or as a result of something.

The given sentence is about Christopher Columbus, and
this is giving more information about the same.

Ques 8. ANS (A) Solution:

The correct sentence is - On October 12, 1492, the Italian
explorer Christopher Columbus landed on a small island
in the Caribbean.

On is used with specific days of the week or year. —on 1st
of Jan / on Monday.

At is used with specific times of the day/ with specific
places in a city. — at school / at 12 o'clock.

To is used with verbs to show movement such as go and
come to school.

In is used with months of the year/seasons/countries.—
in April/in Summer.

A date begins the passage-- so the obvious word fit for
the blank is 'on'.

Ques 9. ANS (C) Solution:

The antonym of Protects is Deserts.

Protects: Keep safe from harm




Deserts: To abandon that is to stop supporting or
looking after

Defends: Protect from harm or danger

Deprives: Prevent (a person or place) from having or
using something

Devises: Plan or invent (a complex procedure, system, or
mechanism) by careful thought

Ques 10. ANS (A) Solution:

The correct answer is "Less successful".

Be in eclipse: less successful and important than before
For example: Even when her career was temporarily in
eclipse she had no financial worries.

Ques 11. ANS (B) Solution:

'An incident that happens extremely rarely'.

Once in a blue moon: Not very often/An incident that
happens extremely rarely. For example: My sister lives in
Alaska, so | only see her once in a blue moon.

Ques 12. ANS (D) Solution:

Let's explore the marked option:

The word 'Aquaphobia’ means 'an abnormal fear of
water.'

Example: She has aquaphobia so she didn't go near the
swimming pool.

The root word 'phobia' means 'an irrational fear of
something that's unlikely to cause harm' and the root
word 'aqua’ means 'water".

Ques 13. ANS (B) Solution:

Providance has the wrongly spelt word. The correct
spelling of the word is ‘providence’ which means an
influence that is not human in origin and is thought to
control people’s lives.

Other words and their meanings are:

Fixation means the state of being unable to stop
thinking about something or someone, or an unnaturally
strong interest in something or someone.

A musician means someone who is skilled in playing
music, usually as a job.

Consequence means a result of a particular action or
situation, often one that is bad or not convenient.
Circumstance means a condition or fact that affects a
situation.

Ques 14. ANS (C) Solution:

The above question is based on Question Tag format.
The first part of this type of English sentence is Assertive
or Imperative and the second part is Interrogative. This
second part is called Question Tag. It is a rule that the
question tag of Affirmative (Affirmative) Sentences is
Negative. That is, the question tag of Auxiliary

’
w1 %

Verb subject +? and Negative

Sentences is Affirmative (Affirmative) i.e. Auxiliary Verb +

Subject + ? Is used. Therefore, the use of 'is it' in the

blank space is appropriate.

Ex. This novel is not interesting, is it?

Ques 15. ANS (B) Solution:

Complete the notice with the right word. Use of cell
phones is disallowed within the premises.

The use of Verb 'disallowed' (to prohibit, retaliate) is
appropriate in the blank space of the sentence.

Ques 16. ANS (C) Solution:

'Cost of life' is wrong usage. The right usage would be
'the cost of living is'.

Since the subject of the be verb here' is 'cost’, we have to
use the singular form of the verb. Thus neither options
(A) nor (B) can be the answer to the question.

Ques 17. ANS (D) Solution:

The correct sentence would be:

My father never did have an opportunity to go to a
University.

In the above-given sentence, the error is related to
adverb placement.

An adverb must come before the auxiliary verb in a
sentence. For Example: | never was a fan of hers.

The structure of the sentence is incorrect.

Thus, 'did never' will be replaced by 'never did".

Ques 18. ANS (B) Solution:

The correct answer is 'PSRQ'.

Part P will be the first sentence because after 'the
carpenter' a verb should be used. And only Part P starts
with a verb. After Part P we know that Part S will be used
because both are connected.

Part R will be the next sentence because the employer
came and inspected his house. Lastly, Part Q will be used
because the employer appreciated the carpenters work,
Ques 19. ANS (A) Solution:

The meanings of the given words are,

Terrible: Very unpleasant, causing great shock or injury
Soothing: Having a gently calming effect

Horrible: Bad or unpleasant

Frightening: Making you feel afraid or shocked
Delectable: Delicious or humorous extremely attractive
Therefore, 'Soothing' is the antonym of 'Terrible'.

Ques 20. ANS (D) Solution:

Panacea - a solution or remedy for all difficulties or
diseases. For Example - There is no panacea for the
country's economic problems.

Medication - a drug or other form of medicine that is
used to treat or prevent disease. For Example - The
medication should ease the suffering.

Treatment - medical care given to a patient for an illness
or injury. For Example - She is responding well to
treatment.

Remedy - medicine or treatment for a disease or injury.
For Example - The remedy is worse than the disease.
Ques 21. ANS (C) Solution:

The tense of the verb in the given sentence is incorrect.




We are talking about an event that happened in the
current year. Thus, we have to use the present perfect
form of the verb 'cause'.

So, the correct sentence is:

The floods this year have caused a lot of damage to the
crops.

Ques 22. ANS (B) Solution:

Ambiguous means open to more than one
interpretation; not having one obvious meaning.

The meanings of the given words-

Clear means easy to perceive, understand, or interpret.
Unclear means not easy to see, hear, or understand.
Bright means giving out or reflecting much light, shining.
Faded means gradually grow faint and disappear.

Ques 23. ANS (D) Solution:

Condescending: showing or characterized by a
patronizing or superior attitude toward others
Patronizing: speaking or behaving towards someone as if
they are stupid or not important

Stimulating: encouraging or arousing interest or
enthusiasm

Accusing: indicating a belief in someone's guilt or
culpability

Creating: bringing something into existence

Ques 24. ANS (C) Solution:

'‘Ambrosial is a term used to refer to something sweet. In
Greek mythology, ambrosia is the name of the food that
the Greek Gods had. So, the word 'Sweet' has a similar
meaning as the word 'Ambrosial'.

Ques 25. ANS (C) Solution:

The correct answer is 'Neurosis.'

'‘Neurosis": The correctly spelt word is 'Neurosis' and it
means excessive and irrational anxiety or obsession.
Example: Behavior therapists believe that neurosis is
learned and can be unlearned.

Ques 26. ANS (A) Solution:

3T U el § | T a9 Th JUSHRYI AT §RIUR BT &
o T R T1 &S BT ], o SRR Uh §8a a1 3
ST ST B

YU 37 SR T YR &
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Mango is a fruit. A knife is a tool or weapon with a
cutting edge or blade, often attached to a handle or hilt.
Therefore, the possible Venn diagram is as follows:

Fruit e@ O——) Knife
v

Mango

Ques 27. ANS (A) Solution:

FRIERSIREIRIE: R bSIRE

A PAATEA DG |[gUar
ERIEDY AR

3T TPAR

3 AT & A TP e o
diq

Ques 28. ANS (C) Solution:
fau T FYAl & T o HH YT 3IRT 39 USR 7,

ST O

%ﬁﬁ%ﬁ%—»%(ﬂ?ﬂ%%@%ﬁ@ﬁ

Il B e el & — A (I8 HHd & Afp [T )
fspef | 3R 1| b ST &
3Iferg, e | 47 11 3ERUT BT B

The least possible diagram for the given statements is as

follows,
Z
.@/4

Conclusions:

I. No white is Blue. — False (It is possible but not
definite)

[l. Some white is blue. — False (It is possible but not
definite)

Conclusions | and Il are complementary pair.

So, either conclusion | or Il follows.

Ques 29. ANS (C) Solution:

(A) 12 3TR 48

feaT T ESH : 12 x 2 + 8-48 = 6 =20
@l &1 UfaRAd 3 & ST g T giefl &
AU =48 x 2+ 8-12+6

=9 +8-2

=104-2

= 102 # T ugf

(B) 6 3R 8

feaT T ESH : 12 x 2 + 8-48 = 6 =20
T3t Bl YfaRATUd IR & 916 g8 I BIdl 6:




ST U& =12 x2 + 6-48 = 8

=24 +6-6

=30-6

= 24 # 31 Uy

(C) 8 3R 12

A TR ASH - 12 x 2 + 8- 48 = 6 = 20

T3 Y U R & 916 §H UTW Bl &
TRATU& =12 x 6+ 8-48 = 2

-16+12-8

=28-8

=20 = qEAI U4

(D)2 3R 6

AT TR ASH - 12 x 2 + 8- 48 = 6 = 20

T3 Y U R F 916 §H UTW gl &
TRATU& = 12 x 6+ 8-48 « 2

—72+8-24

=80-24

= 56 # &A1 &

Ques 30. ANS (A) Solution:

TP A 3R MBI B & & Y'Y 3T UHR g:
i A T =i aTé @t 31T Y, i B H 90° qTW
HTT T g |

i A H Frach aTd ot st &Y, sefa B & 90° aT¢
AT T ] |
&W?Aﬁmaﬁﬁ&mﬁ,maﬁww

TR
Apfa A T Farch aTd o eepfa TuM It § dftr emepfa
B § I8 Bifdhd g

= A0 <

w NR N

I ey T,

3THTA C 3Tl Spfd T 59 UbR Taifdrq grht

-
X V|3V
T UDR;, faU U fadmedl & ¥ 31l 1, 3l C I 34t
PR Yaferd § S Mpid B, 3Pl A J Taiferd g
The relation between figure A & figure B is as follows-
The top left shape in figure A is rotated 90° right in
figure B.
The bottom left shape in figure A is rotated 90° left in
figure B.
The top right shape in figure A is rotated 90° left in
figure B.
The bottom right shape in figure A remains same but is
shaded in figure B.

= AL J
N A

By the same relation,
Figure C would be related to next figure as-

¢ Ol O
X V' w

Thus, figure 1 of the given options is related to figure C
in the same way as figure B is related to figure A.

Ques 31. ANS (A) Solution:

& TRft e U & SR,

d B|C|D|E|F
S

T

I J1H 3(4|5]|6
quITTl Y [X |[W|V[U|T
RJHId || 26( 25( 24| 23 22 21/ 20{19[ 18
L=12(1+2)=3

=9

F=6

E=5

S IR,

F=6

U=212+1)=3
N=14(1+4)=5

SIRIT, FUN, 635 ¥ Teifdd 5l
According to the given coding language,
CIDIE|[F|G[H(I |J[K|L|M
3(4(5(6(7 (8|9 [1011)1213
X|W|IVIU|T|S|R[Q|P|O|N
Position valuel 26|25 24|23 22 21| 2019 18] 17]16{ 15 14
L=12(1+2)=3

=9

F=6

E=5

Similarly,

F=6

U=212+1)=3

N=14(1+4)=5

So, FUN corresponds to 635.

Ques 32. ANS (A) Solution:

The arrangement of the given words in the alphabetical
order in which they appear in an English dictionary is as
shown below :

1. Abandon

3. Accumulate

5. Achieve

2. Actuate

4. Acquit

Ques 33. ANS (C) Solution:

qUU &Y Ufcifers 39 UHR g

N|=—

||
=
r

©
o
£

Alphabet A
Position value| 1

Alphabet zZ

Y =< [N |




The mirror image would be as follows:
A

AL

B

Ques 34. ANS (C) Solution:

fear T R B 28 + 6x 9= 3 x 6+ 2- 5 = 31
U [dded B fadidh &R IR,

(A). 6 3R 9 B gET- IR

HHIAROT T, 28 + 9 x 6 + 3 x 8 + 2 -5 = 95 # 31

(B). 3 3R 6 B! T W

THIPROT T, 28 + 3 x 9 = 6 x 8 = 2 -5 = 41 # 31

(C). 6 3R 2 P FEAT W

JHIHIOT A, 28 + 2 x 9+ 3 x 8 + 6 - 5 = 31

(D). 6 3R 5 P! FgT W

JHIHIOT AT, 28 + 5x 9+ 3 x 8+ 2 -6 =82 # 31
2T, 6 3R 2, B IEa W, §H gl IR U gl 3|
Given equationis28 + 6 x 9+ 3 x6 + 2 -5 =31

Let's check each of the options,

(A). Interchanging 6 and 9

Equation will become, 28 + 9 x 6 +3x8+2-5=95#
31

(B). Interchanging 3 and 6

Equation will become, 28 +3 x 9 +6x8 +2-5=41+#
31

(C). Interchanging 6 and 2

Equation will become, 28 + 2 x 9 + 3 x8 + 6 -5 =31
(D). Interchanging 6 and 5

Equation will become, 28 + 5x9 +3x8+2-6=82+#
31

So, by interchanging 6 and 2, we get the correct answer.

Ques 35. ANS (B) Solution:
a1 71 8: FRAGRANCE &1 ESZHQBMDD & U ¥ ferar

EilsI

Tob: 31eRT & R 7 & THIR ¥ F 1 HT 92 3R
TS fora T & S o ) feaman man @:

Given: FRAGRANCE is written as ESZHQBMDD.

Logic: Alternate subtraction and addition of 1 in the
positional value of the alphabets as shown below:

FRAGRANTZCE

A la] e )

E S Z H QB MDD
4l TR,
Similarly,

N C E

+1 -1 +1

-1] +1 +1|

[DYBFKMDOBFI

Ques 36. ANS (B) Solution:
fearman g,
1684 @5#72*8

Y & IR,
=16+4x5-72+8

=16+20-9
=36-9 =27
Given,

le&4@5#72*8
According to the question,
=16 +4x5-72+8
=16+20-9

=36-9 =27

Ques 37. ANS (D) Solution:

& 7S apfa @ i yeR ¥ RifRd forar ST awar g

The figure may be lebelled as shown.

ﬂ%ﬁwﬁuﬁmﬁ FBG, GCH, HDI 3fR IEJ § T Tveam &
5%l

st 1 ged! EBH, AIC, EFC, ADG, 31R BJD ¥ fyda &=
gId &, I S H 5 5

TYUBR, MHAH 5 + 5 = 10 AYS {1

The simplest triangles are AJF, FBG, GCH, HDI, and IEJ i.e.
5in number.

The triangles are composed of three components each
EBH, AIC, EFC, ADG, and BJD i.e. 5 in number.

Thus, there are 5 + 5 = 10 triangles in the figure.

Ques 38. ANS (C) Solution:

& o (3) & SR e et

We will get the designe as in figuer (3).

%

O
@)

f =%

\ - J

Ques 39. ANS (A) Solution:
& TS TSR ¥ IgaE YHIfad 3IRE B,




i #

W
@ fo

|

Y
Higem
gy
RMEIRET
=T
Heel
s G
& AT
W
F1ufdl—

U
F1ufd

O

‘U, WP TIfd & HTS 1 Tell &, Jel SR g

The best possible diagram from the given information is,

)

‘Uis W's husband's brother's wife' is the correct answer.

Ques 40. ANS (A) Solution:

Given-

P

fRfT () 3R ffa (D) B, 5 3R 3 I & ST 31 8

% 2 3R 1 T g & fAWd |

fRUF () 3R RURT () H, 5 3R 2 = & forept o 3
f% 3 3R 6 TH T & fauda g

4 3R 5 U W & fAuRId €|

In position (A) and position (D), 5 and 3 are common
which means 2 and 1 are opposite to each other.

In position (A) and position (C), 5 and 2 are common
which means 3 and 6 are opposite to each other.

4 and 5 are opposite to each other.

Ques 41. ANS (A) Solution:

gafary fodt Sita &1 Uresfdeds a9 a1 ardTaRo giar o
ST I R § OT51 Ul ¥ 1d & |

Tig 98 SHTE § S5l ¥R IEd 8

G 98 RIM & S5 3Tl ST 3T STl 3 |

Habitat is natural home or environment of a organism.
Stable is place where horses are kept.

Den is place where lions live.

Barn is place where grains are stored.

Ques 42. ANS (C) Solution:

I AT A A S ST,

= F=2R

313 TIdl g, 0 & Ul B S IFb! g BY 2.5 T
o,

= (F-8)=25(R-8)

=>F-8=25R-20

=2R-8=25R-20

=>R=24

IH B 3G 24 T g

Ram'’s father is twice as old as Ram,

= F=2R

Eight years ago, the age of Ram's father was 2.5 times his
age,

= (F-8)=25R-38)

=>F-8=25R-20

=2R-8=25R-20

=>R=24

~ Ram's age is 24 years.

Ques 43. ANS (D) Solution:

et FAUfeRad e &1 AR el &

The series follows the following pattern:
-3=27T—3=24
*—3=64—3 =61
5° —3 =125 — 3 = 122
6°—3 =216 —3 =213

4l UPR,

Similarly,




Ques 44. ANS (C) Solution:

(8x3)+4=28

(28 x4)+4 =116

(116 x 5) + 4 = 584

(584 x 6) + 4 = 3508

The logic is,

(8x3)+4=28

(28 x4)+4 =116

(116 x 5) + 4 = 584

(584 x 6) + 4 = 3508

Ques 45. ANS (A) Solution:

gl 3aRT forar a1 Ued g

Ugell 3BT B A &7 dc gt SMdpfa & IaH i ok
fract It 7 gikafidd g S g

Ugell 3MHfd H SR SR 17 I0H I gukt siipfa & ge
d & uRafdd g1 o B

The pattern followed here is:

The element in the middle in the first figure gets
converted to the similar top and bottom elements in the
second figure.

The similar elements at the top and bottom in the first
figure get converted to the middle element in the
second figure.

Ques 46. ANS (B) Solution:
TG WEU 7
The pattern here is:

33—
KN MF OR QT SV uUx
l M M M M 3

"UX" 9Rael H STaT Ug B

"UX" is the next term of the series.

Ques 47. ANS (A) Solution:

fdBed (A), (B), (C) 3R (D)®) Wi B & &1¢, gH e &

After checking option (A), (B), (C) and (D) we get:

- ~

el =%

Ques 48. ANS (B) Solution:
3{eRT o JUIHTAT & Ual & 39K,

According to the alphabetical positions of the letters,

> 1 01 OW
A > B > > D
+ i +1 +1
B > > D > E
B > F > >T
'DET’ &l SR 2

'DET" is the correct answer.

Ques 49. ANS (C) Solution:

fear man g

12#12@28%$78&15

Y & IR,

=12-12%x28+7+15

=12-12%x4+ 15

=12-48+ 15

=27 -48 = -21

Given:

12#12@28%$78&15

According to the question,

=12-12%x28+7+15

=12-12%x4+ 15

=12-48+ 15

=27 -48 = -21

Ques 50. ANS (B) Solution:

fe; < el RaT TR T 3@ S B, o fawed i & e
3Hfa o1 el fafare g, - guifd 7w &:

If a mirror is placed on the selected line, then the option
that is the correct image of the given figure is shown
below:

Ques 51. ANS (A) Solution:

=y =2 T 162
"J."'l ﬁ A
128 e

Y 2 v 128 x 162

— /82 x 62 x 32
8 x 6 x3

— 144

Lz =+/144 = 12

Ques 52. ANS (A) Solution:




fazre:

z® — 33z + 3323 — 3327 + 33z — 1

=z (32+ 1)z +(32+1)2* - (32 + 1)z + (32 + 1)z — 1
= 2% 3221 2 13223 4 2% 3222 221 322 1z 1

o o g o § i o = 32

Az’ —zxzt-zltzxd+d—zx2®-—+rxzt+z—1
=zttt -tz —1

=z—1

—32-1-—31

Ques 53. ANS (A) Solution:
e 8 15sin 8 + 20cos B
TYgTa =15 3R b = 20

Then the maximum value = /152 + 202

— /225 1 400
= 1/(625)
— 25
15sin + 20cos T 3B aH AM 25 B
Ques 54. ANS (A) Solution:
2008 H HU A GRT TTerd URATSHIS B T3
=300 BT 120 %

120 > 310

100

=360
2009 H HU A RT Tferd URATSHTIS Bt T3
=360 BT 105 %

11‘... e .-1;'[..”-?
100

=378
Ques 55. ANS (A) Solution:
X =TT x JHY

"HAGdgRIJAd DI T gl = 6

P/ b i L - LA AN < \ J A
S 60

= 0.2 fHH
200HET  :[1THHI = 1000 HieR
dih PR D 3H3d 85 D g Aidd DI PR g &30 1.2 [HH1 4l

-, 2 fir e A SR gRITE 31 718 g8 = 200 + 1200

= 1400 HIX

- FoFTTE

12 forii/de
Ques 56. ANS (A) Solution:
fear T g,
YRT & 3P A1d Bt id = 15 fbe/ger
YRT ! T = 3 Tl ger
X7id ofd § A1 &t fd = 12 fopHi/er

YR & Ufded o forar a1 99y =

3
4
1 1
17 fer 4=
2
1
93 8|

Ques 57. ANS (D) Solution:

ﬁ'CITTI'CIT%:

A P &I B H 60 % 3P B

C I G B ¥ 20 % HH B

ggmwﬁ@z?ﬂ:ﬁ@ﬁmﬁ 40 AT H QI R
|

BRCSRSER

%sg%ﬁawmm%ﬁww$wﬂm
|

$A B = G&dl x I

AT B FI UfafeT e x 31

dl, A P GEfdT = 1.6 x Ufdfe;

C P! &l = 0.8 x UfdfaA

UATIIR:

FA D (W) = 40 (1.6 x + x + 0.8x)

=>w=136x
( 136x )
g‘maﬁmﬁ 1.63,’-

|
iy I =85 e

Ques 58. ANS (C) Solution:
TN,

&g BT fdhd e = 1965 3T
3R g1 = 25%

.. CP = 195 » 100 = 262031

ft o 1 HR Tamar

gfc f[akha 9 = 3013 30y

(3013—-2620)

.AH % 50— X 100
3930 07

Ques 59. ANS (D) Solution:




1 D, =10
™ Dy = 20%
D3 = 40

SP = MP x (1 - D1%)(1 — D3%)(1 — D3%)

[STei M P a¥d &1 3ifdhd Hed g 3R S.P a% &I fdshd 4l g]
SP=MP x (1 -10%)(1 — 20%)(1 10%
>SP=MPx (1--3)1—3)1— %)
>SP=MP x (55) (550) (500)
SP 4 ‘_‘:1
= SP =43.2% x MP

Uhdge D = (100 — 43. 2)%
s D 56. 8%
Ques 60. ANS (C) Solution:
ﬁ'QTTI'CIT%:
TR HIGE =10 %
s HHH = 10 %
TASMA § B,
TiaRd = (3fdHAF - URMN® 99 ) / RIS 99
AT {6 daTs 3R IISTE HHT: a 3R b B

{1 DI &Ahd = ab
givdd- 4 Ugdl &l &7A%hd = ab
Rt & G &1 83%d = (a + 100)(b— 166)
I 4 L¢ \
7N ‘ (50) (10)
b s e . )04
dd- d AP = T4
SN ( ab} S
IR ] = : 100%
OId=d URddd = —1
gl (—) &35 d H HHl |
U 3] el g 1¢ ]

Ques 61. ANS (D) Solution:

A:B=2:5

B:C=4:3

B ITHII U<, § 34l T Ugd B & It A &) SRIsR
T ST A1

43R 5HTTIY. 20 8

A:B=2:5 4 T0TH)
B:C=4:3 (5 T0MTH)

3oy, A:B:C=8:20:15

3@, A:B:C=8:20:15

ARC:D=2:1

C I g ST S9hT A sRTSR fohdT ST Mg
15 3R 2 ST AT, 30 2
A:B:C=8:20:15 (2 Y UM HY)

C:D=2:1(15 Y TONH)

A, A:B:C:D=16:40:30:15
YT, A:C:D=16:30:15
Ques 62. ANS (D) Solution:
ﬁ'qT‘TCIT%:

I o1 B Tig 1 AN = 2 e
I &1 93t g & 3 = 8 gt
Y WA & B,

(47r)

2
™ |

M BT A =
el Pt 3férd Team = 9 o1 71 g &1 e / F o
BT Tg BT A

I 3t BIdt Tig o1 Bear = 1 i

TASFA g 199 = 10 e

I ot B i ot Brear = 0.1 I

(47r%0.13)
R ot B i BT 3Maa- = 3
(47 x8%)

A ptaStAedremad = 2

dor

el 1 Sruferd e =
=5 = 512000

gﬂ@aﬂa@ﬁ?@ﬁﬁﬁmﬁﬁﬁm 512000
|

Ques 63. ANS (C) Solution:
fearman g

(59)° + (4z)* — (3y)° + 2° — 2*

1257° + 16z — 27y° + 8 — z°

9

98y° + 15z* + 8

XSl bl A 98y° + 1522 + 8 3l

Ques 64. ANS (A) Solution:

far &:

LP = 50°

PQRH,

/P +2Q + 2R = 180°

@ Y & Tt 3ngieR S0 w1 ATHS 180° BT B 1)
= 50° + 2Q + «R = 180°

= ,Q + 2R = 180° - 50°

=,Q+ 2R =130°

EQR = PQE = 1/2 Q (EQ Q &1 T fgHIIS B)

ERQ + PRE = 1/2 R ((ER R &1 U fgHToIP B)

QERH

= «2EQR + 2ERQ + 2QER = 180°

@ Y & Tt 3ngiaR HI07 &1 ATHS 180° BT B 1)




- 2QER 115° g |
Ques 65. ANS (B) Solution:
TR ST UR 1A= &1 718 1 5% Ui 99 Bl & 4 W98 &1 6 T 51 Sl g |
OEI d ™ P = X $ud gl
AyeT A = 6X oW
RO ST = A — P
= SI = (6X — X) vl
= SI=5X%W
@R =5%ufaay
A & AR
T = 10x51 gt T 9 saEf g
= T =100qY
Ques 66. ANS (A) Solution:

@D, sin 45

.. sin“45
tu‘\".‘ll
P (1 )< ) O
— cos?15° = - SO
)OS
> sin“ 15
9 4n i 1 24+/3
cos“45 sin“ 15 ( — )
. 2 AR e 150 V3
> cos“45 —sin“ 15

Ques 67. ANS (B) Solution:

e 150 49 i far Srar g a9 A9 = 1

S 2531 32 P 49 UIRST fPaTSraT e d@ AW = 0
e 3597 243 BT 4 Y AU P ST a9 QY = 3
S 45311024 B! 4 RYIG fPaT ST g e AW = 0
S 5537 3125 B 4 I UG fPaT AT g de AW = 1
QYY =1+3+1=5

S 5P 4 ¥ U far oirar @ 99 AW

Ques 68. ANS (B) Solution:

ﬁ'CITTI'CIT%:

ofgar: gy = 3: 1

o & uidier 89 & U B g arel SEieaR! @ TRe

= 4000 DT 40%

_ 10
= 1“”“ 100

= 0.4 x 4000

= 1600
fam & widier & & = U B g aTd g3y Sufiear) &t
AT = GBI PT SJUT/FHd U x G ! g arad
JEGaR] Bt AT

1 00U
= 400
Sl DI UGG &F &b FY H A a1t STHIGART DI IReAT
= 4000 BT 15%
=4000 x ==
= 0.15 x 4000
= 600
&l Bl THalal & & ©U H g d1d Joy SHiGdR] St
IRAT = TS DT SUTA/Hd U x Bl Dl o ardl
JEGaR] Bt AT
=7’ 600
= 150
Y IR = 400 + 150
= 550

Ques 69. ANS (A) Solution:
fear g:

240 = 6 + V 529x17=?+80W150%

=40 +23x17=7+120
=40+391 =7+ 120

=431-120=7

=7 =311

?BTAM 311 81

Ques 70. ANS (A) Solution:

fezr mar g,

5 73N BT 3T = 6

YT, 5 ARSI BIART =5 x 6 = 30
=90 5 H Y o AEneli 1 o d = 8

3Ofefy, ST T AT HTANT =3 x 8 = 24
AV S AT BTANT =30 - 24 = 6

39 &1 el 7 3fd = 6/2 = 3

Ques 71. ANS (C) Solution:

fem T,

HHATE] Bt T = 26800

fRrefor = 15 %

fafeedr =27 %

UdYT = 17%

3{d,

fRreror 3R Fafre o waial o1 oa ufawm,
=15% + 27 %

=42%

3id,

fR1er07 3R fafdrcn & $a HHaial iR e § od
HHAIRGT & o BT 3R




= 26800 BT (42%-17%)
= 26800 &1 25 %
= 25/100 x 26800
= 6700
Ques 72. ANS (C) Solution:
e mn g,
A BT ddT = B & da- I 60% 3P
AT B BT 3 100 B
AHTIdT = 100+ 100 60% = 160
B®IAdd = AP ddTd (160 - 100 ) = 60 HH
A ddd T [60 / (A BT dd )] x 100 UTa=Id HH
= A% dad- ¥ [60/160]x 100 Ufa=Id &H
=37.5%
B H1dd, A P ddd 4 37.5% AT
Ques 73. ANS (B) Solution:
TATH BT GAT = idls x IS X Hdlg

480 = 12x 9ISl x5
—l-ﬁ—rﬁi’ _ 480 __ )
dISTe = g5 = 8Tl
'346.

derg /dIsls = 2 _ %

-, 2 (d913) =3 (AIS1)
Ques 74. ANS (A) Solution:
ST 6 &1 S § 1% Ip i agye & fauia sion 1 an
180° B

ZCED = 120° gRI, U Hiefi @1 W $Iv,

Z/BED = 60° R, U Jtefi 11 & Sior,

. BD _ . __ a0
. g — cos 30

6 _ V3
BE 2

= BE = 4/3 34

..BC =BE +CE

= 4+4/3 + 5/3 = 94/3 4

3{d, 4f> AB 3R CBdd &l 6 39l |

..BD x BA= BFE x BC

6 x BA = 44/3 x 9/3

= BA = 18 4l

R, AABC 0o GBIV S 8 - (. LC = 90°)
AC = ABsin30° (sin30° = 3)

AC = 9 Uil (dabfchd U U UISYFIRY Uiy eRTiH W)
4l AD = AB— BD = 1241l

AC 9 3

AD — 12 — 4
Ques 75. ANS (C) Solution:
THS01 BT e AT = 65 Tilex
UR™ T (8¢ &1l AT = 65 x(4/5) = 52 AleR
TorsfoT o Qg Y A AT = 13 dleR

for801 BT 15 <fiex FAPTe & ULTd, TEe 3R WFh HY

3ufde U
Y e S1d §| foraep ofdf § 12 offer 283 iR 3 dfle”
YR o & 9§ et g
fRr9/07 & gl e o T, A A Tge St AT = 52 - 12
+ 15 = 55 T}
fAY07 H B BT HAT = 13 - 3 = 10 AR
TIT SUTT 55 : 10 = 11: 2 B
R80T D1 el 7T = 65 TleR
Total volume of mixture = 65 litres
Total volume of honey initially = 65 x (4/5) = 52 litres
Total volume of sugar in mixture = 13 litres
After removing 15 litres of the mixture, honey and sugar
are also
removed proportionately. It means 12 litres of honey and
3 litres of sugar is removed.
After replacement, amount of honey in mixture = 52 -
12 + 15 = 55 litres
Amount of sugar in the mixture = 13 - 3 = 10 litres
~ New ratiois 55:10 = 11:2
Ques 76. ANS (B) Solution:
fay gdie fdad 2023 fay TR W 27 RideR 1 H=™1 &1l
g1 78 f&71 g & fafts el & v &l sgrar g W
& Hisd B P AT §R AT TR Sl © | J§ GG Y
fay Ted e (UNWTO) gRT IR fovdT 7T T | T8
Tic &1 FG1aT & IR SUP Hed $I GHSH P g THRT
ST ¢ | fay wie feaw &1 Iexg Al &1 gfa &t @i
T DI GNP I 8| T8 S Hew@yuf e g
World Tourism Day 2023 is observed globally on 27
September. This day is celebrated every year to focus on
promoting tourism in different parts of the world. It was
initiated by the United Nations World Tourism
Organization (UNWTO). It is celebrated to promote
tourism and understand its importance. World Tourism
Day aims to make people understand the joy of
exploring the world. This is a very important event.
Ques 77. ANS (B) Solution:

S e ST 4 BRH fa T, UNIQLO Bt
Ugdl HRAIT S TaweR § | I8 9on afyd He R YR
ufaffiE & gfasr 7 e Aoyl &0 51 Hediql $
Tore, AT SR RRAT % Ufd dueit Bt 3ige ufdagdr
&1 I TRE A Ui €, off S8 §RT TR HAE S arel
Tl ¢ | HeH H B dfd e+ R UNIQLO &
UM Mo ®1 IR Rl 8, S WRd & fawaiia
M FNIR 3R GaT SHYAIRAD T BT Y 3Tl § o
D! el SR T JAT B U B §
Katrina Kaif is now the first Indian brand ambassador of
Japanese global fashion giant, UNIQLO. This
announcement is a significant moment in the history of
Indian representation on the global stage. Katrina Kaif
perfectly embodies the company's unwavering
commitment towards quality, affordability and
sustainability, which are values consistently celebrated by
the brand. Katrina Kaif's global icon status highlights




UNIQLO's strategic decision to take advantage of India's
expanding fashion market and youth demographic who
admire her style and charitable efforts.

Ques 78. ANS (B) Solution:

TSR T Ay g 8 o) aaads ol & SR W fafid
TS & 1Y AR o o ehdT § | S § T &9
3 o1 SR S gl Bl

T i urgait a1 3 Il & WY U1 &1 U T4 gl
T WM Ao 11% fe, 37% W, 42% fowy, ofiR
10% PHSHaH g

T Iee T U I 4T B! Yog! Bl oiis & for
FAgTSTt 3R SATCaT | IGANT faraT ST §1
R Jd U Y Ud "HH" TA1H & 1Y 41 T dR 7
Solder is an alloy that can be prepared with different
combinations depending on the required properties. The
combinations mainly contain tin and lead.

An alloy is a combination of metals or metal with other
elements.

A common combination is 11% tin, 37% lead, 42%
bismuth, and 10% cadmium.

A solder is mainly used in plumbing and electronics to
join metallic surfaces.

Solder is basically metal wire with a "low" melting point.
Ques 79. ANS (D) Solution:

PR & AY:

HTIR TP §gd ol [Sarsy g

I 9gd Jo! BT | 3T &1 TUMT R Tl g |

SR § AP NG S, TGS R Tg1 d& fob ApRds
1T b1 $PTEa BIeh &

g Y & UHh 3% 1 ardl O3 Bl
T R bl B, I 3MeH & fAuid o Tb &t B
PR T H3 TR T GhlT ¢ |

Benefits of computer:

Computer is a very fast device.

It can calculate very large amount of data.

Computers have units of speed in microseconds,
nanoseconds, and even picoseconds.

It can process millions of computational calculations in a
fraction of a second, unlike a man who can take months
to perform the same task.

Ques 80. ANS (B) Solution:

T3 &1 ITAN Ahdhd JoR TAARERHE | AHS UigfeT
fSary & ¥u H fo5an 911 ¢ 1 v uisfen fEamy ga wu
Y AI3Y HIR Pl WFARA B & 8 Iua1T b1 airelt &
3R HIRT A3, HR AT3Y IS oY Ui feargy &
fafirs Ieeru &

Mouse is used as the standard pointing device in a
Graphical User Environment. A pointing device is
basically used to move the mouse cursor and there are
various examples of pointing device like Camera Mouse,
Computer Mouse, etc.

Ques 81. ANS (B) Solution:

Hiferep SfUBR 9 ifpR § S AId 31k o g
3TaID 3 |

YR Tfqur Aifcies BRI & THTAOIT HRT § o
I ufdeel & erefF 3@ B

38 Hiftiep SHfIPR &

T BT SRIHR (35S 14-18)

G BT AABR (3T 19-22)

0 P faeg SMIBR (3G 23 3R 24)

e TacIaT BT SHTRIBR (TG 25-28)
Tiplas 3R A 3fBR (3gwde 29 3R 30)
GaUT® TR & SMIBR (3T=T 32)

Fundamental rights are the rights that are essential for
human survival.

The Indian Constitution accommodates fundamental
rights which are Justiciable subject to reasonable
restrictions.

There are six fundamental rights namely:

Right to Equality (Article 14-18)

Right to freedom (Article 19-22)

Right against exploitation (Article 23 and 24)

Right to freedom of religion (Article 25-28)

Cultural and educational rights (Article 29 and 30)
Rights to constitutional remedies (Article 32)

Ques 82. ANS (D) Solution:

fifgey s iR & Ty 3o A g el e |

ffdma Yem, 94 ok urd & |1y 3 BRI
B & | BV Yo, ANTeS, TR 3R iRy ™imR
b Y IS T = B B

Sikkim does not share its boundary with Myanmar.
Sikkim shares international boundaries with Bhutan,
China, and Nepal. Arunachal Pradesh, Nagaland,
Manipur, and Mizoram share an international boundary
with Myanmar.
Ques 83. ANS (D) Solution:
TS SISl U=t TP = YR | Yoy Tdrd-! oreit
I B g1 I8 AiaT USI3S W HH o o firaf| ga
Wcrsﬂ?r‘eﬁehﬁrﬁ 3{TC o ST | S S @Rl &t
RI&d Y ¥ geg Af ot Yy givar & Jed 3
hfads smuerst & ¥ U 81 RIS ddra-t fire & @
GE I 3R o et o o & QRigrd Feprem A
w—cfam HRA H AP SAUGT Yy WIYHT (TTSITHT)
3R BT 1 I dg (TTTERh) & RS § I8 Yo
= B IS B
Ques 84. ANS (C) Solution:
S-PIAY B ATl HU 3o HHH giaadr BH Bifts
# 4 fofera skt SieR d& &1 Faw SN SR HU-
3ICUH WM Bt T il T§ HaH 3HuT & 3MhTHD
T3S YR &1 I@ifohd Pl § M a8 AIsshNite 3R
SfEpTSIC & T oY Uigled! & Iy e ST @1
el & | GO BT I RTHT &1 1l Ugd gd
SRS ST SRPTRET gRT 1 715 ot SR g1t g1 o
FAIS 2 ATH I ST T THTS Teaic did b g
E-commerce giant Amazon will invest up to US$4 billion
in artificial intelligence firm Anthropic and take a
minority ownership position in the company. The move
underscores Amazon's aggressive Al push as it looks to




keep pace with rivals like Microsoft and Alphabet's
Google. Anthropic was founded about two years ago by
former OpenAl research executives and recently
launched its new Al chatbot called Cloud?2.
Ques 85. ANS (C) Solution:
"G T- 3R DIEY" Yee fo Tiad gRI I fdbar
PN faymT o1
qere fo Ta® & "faaRl &1 st & =4 § S
ST § 3R 3Y OB YR & Gad ggdTan e J
TH HgT o Govdl § | GEHIG-o--giTad 3= U,
TP & STRITBRT & 3R YR I W qH
TR H I 1 R {ha1| 3% baid AeUr & R
3R ATHHTA Pt S HaT & 1Y TN B o fo1g ST
SIS
"Diwan-e-Amirkohi" was the Department of agriculture
introduced by Muhammad bin Tughlug.
Muhammad Bin Tughlaq is known as a “Man of Ideas”
and can be said one of the most striking sultans of
medieval India. Muhammad-Bin-Tughlaq succeeded his
father, Ghyasuddin Tughlaqg, and extended the kingdom
beyond India, into Central Asia. He is known for the idea
of a Central Capital and experiments with a nominal
token Currency.
Ques 86. ANS (C) Solution:

TR off USiiare] a1 & aR | §, Bt
Wﬁﬁﬂzﬁ% =¥ Yol U4 Yoitare o1 fa=ewor § aut
TSGR &1 U1 § Hod R & U i T & | 39
TP & GRT TH 4T Fd1- [GaRYURT vared g8 foem
Ul gl Hrgarell 1 SR A foel faa| 39 geasd
;mﬁ%WBﬁaﬁ%wwﬁwm

I
The book "Das Capital" which is about the capitalist
system is authored by Karl Marx. There is an analysis of
capitalism and capitalism and measures have been given
to free the working class from exploitation. A completely
new ideology flowed through this book, which shook the
entire ancient beliefs. A few years after the publication of
this book, there was a communist revolution in Russia.
Ques 87. ANS (C) Solution:
SO U faggd S Rex § S U feaquiadas ol JuanT
IR U fIggd YR IO BT ¢ | STHH! TS ol
oI faggd Soil H uRkafdd Rdr 81 S/ ugd fagga
SRR U S I o o faqyd wifed & Sare # gam
| Sl & RIGId & YR W g 91e 8 &g 3= faggd
ST B aTdl YIRS JUBRUN o] [dn™ gl Fored
fagga Hie, varad! 4T SR 3R et H=ack Wi g

A dynamo is an electric generator that produces direct
current using a commutator. Dynamo converts
mechanical energy into electrical energy. Dynamos were
the first electric generators capable of producing
electrical power for industry. The principle of the
dynamo later led to the development of many other
power-generating converter devices, including the

electric motor, the alternating current generator, and the
rotary converter.

Ques 88. ANS (A) Solution:

MR} Trdd Has, HRd &1 T Chaoiex Hridd & |

7% ! IR 1 3 PR & o iR A R
TISME / T8 aTd ATl b1 FHaq el 3

I HERTY H TG TNT BT FegTd =T gd ST 7 7|
Tdd BT o TOIRT H 3R TTer Greoy gor H g3 o |

Gauri Sawant is a transgender activist from Mumbai,
India.

She is the director of Sakhi Char Chowghi which helps
transgender people and people with HIV/AIDS.

She was made the goodwill ambassador of the Election
Commission in Maharashtra.

Sawant was born in Ganesh and raised in Pune.

Ques 89. ANS (A) Solution:

Ques 90. ANS (B) Solution:

T IS0 G & fordt fawg WR T o1 bl § afe
R FHT THT TRATd UTRd et & |

TG 249 P IR, TG Iy ol 1 vl R B
ST il § Al Mo THT SO IURIT SR FAGH B
I Yol & 2/3 SgHd U TRdTd UTid $Ret ], o Te &
7T g sraxas & i a8 gfed # g g # Ifcafed
fopdt ot fawa IR S s

¢ fafeiad gRkfRufaal & s gt &t fasal R 1A
ot a1 & ol &

g 3MTuTaeTa A1 8, 3T fardlt Iy 1 JIyufa 2
(3T 356) P T W 7T, al TS o9 Gt & fawa
TR W ST &1 qhelt B

TG 253 & IR, TG Iod I & vl IR A
UTR P el § dfe U6 SR Tl a1 faasi
il & T TR & Hra-ad & g ST 5
3G 252 & SFIUR, TG &1 I 41 Y 3Mf¥eh Il &
YT 33 ST &1 TRdTa UTid HRd & b Iog =t &
Ela o off fawa o dqeia o g1 dio-ia &, @
TS 3 Il & oY T 1 Wbl gl

The Parliament can legislate on a subject in the State list
if the Rajya Sabha passes such a resolution.

As per Article 249, the Parliament can make laws on
items in the State List if the Rajya Sabha passes a
resolution by % majority of its members present and
voting, that it is necessary for the Parliament to make
laws on any item enumerated in the State List, in the
national interest.

The Parliament can pass laws on items in the State List
under the following circumstances:

If Emergency is in operation, or any state is placed under
President’s Rule (Article 356), the Parliament can enact
laws on items in the State List as well.

As per Article 253, it can pass laws on the State List items
if it is required for the implementation of international
agreements or treaties with foreign powers.

According to Article 252, if the legislatures of two or
more states pass a resolution to the effect that it is




desirable to have a parliamentary law on any item listed
in the State List, the Parliament can make laws for those
states.

Ques 91. ANS (C) Solution:

RS Tt 7 400 Hier @1 s & Tl e Sfidq arelt
Ugdll YR Higa HHod ¥y 8 | 3614 I8 Ug® ay
1970 & TR Wd H Sitdr a1 a8 1971 § g8 U1 4t 3ars
q g fobam |

Kamaljit Sandhu is the first Indian woman to win a gold
medal in the 400 meters race at the Asian Games. She
won this medal in the Asian Games in the year 1970 and
in the year 1971 he was awarded the Padma Shri Award.
Ques 92. ANS (A) Solution:

TS Y TR AT 26 RydaR &1 IRA] gRART & Hdt
IHAA F T SRty feaw & wu # 7 31 39
BT I IRATY] SRAART §RT AFAT & folg Id W 3R
I YUl IHAH DI MaTHdl & IR H Adol-id
SRl ST 8 | I8 ST 3R 37 AdT3f ol 3
TRART & T F & I[P ATyl 3R I 1T @
1 IS SR f1ffes ARTel &b IR H fRférd A &1
3R Y& Pl 5|

The United Nations observes 26 September every year as
the International Day for the Total Elimination of Nuclear
Weapons. The day aims to raise public awareness of the
threat posed to humanity by nuclear weapons and the
need for their complete abolition. It provides an
opportunity to educate the public and their leaders
about the real benefits of eliminating such weapons and
the social and economic costs of maintaining them.
Ques 93. ANS (A) Solution:

UTpfaes STRReT Ufad- U M Iwg sfafd (3maR R
TS TN) &b SR Sifad o 3R Jg B! T & o1 B
3R | MHfAdh SFRReT gf U YHRIAS Whfadh
UREdH 8 9 Sifad S 1 S8 A1 T8 97y 3fafel &b
SR B aTelt Tl b SRe § et gt gl

Natural population change is the difference between the
number of live births and deaths during a given time
period (usually one year). Natural population increase is
a positive natural change when the number of live births
is larger than the number of deaths during the time
period considered.

Ques 94. ANS (C) Solution:

gy, Th URUR® I& , HRd & HRa Iod H I
g3l

Hifg-tergd &1 Wfead 31 Hifg & T & ®0 H A
ST ], S &g URifores swursit ot @iielig ufedn g, Sik a8
PR BT IR Thd T TU B |

‘Mohiniyattam’, is a traditional dance that originated in
the state of Kerala in India.

Mobhiniyattam literally interpreted as the dance of
‘Mohini’, the celestial enchantress of the Hindu
mythology, is the classical solo dance form of Kerala.
Ques 95. ANS (A) Solution:

@mar—crﬁg;ﬁwﬂwm 3R gexgd ¥ ordfay fufq #
[

Sfay favsade:

g TR UIRTRH WR fRUd B

eHls P daTE agn|

I8 9, AHioie SR Uy & ury oirdl 5|

I8 tied AT &1 T fgw g

Intercalary Meristem is located in the leaves &
internodes at the intercalary position.

Intercalary Meristem:

It is located internodes at the intercalary position.
Increase the length of the internode.

It is found in grass, monocots, and pines.

It is a part of the apical meristem.

Ques 96. ANS (C) Solution:

YRA & T HieR dfew g1 3 1 4o 3@ § SR St
s & for & yoT ford 7 § 1 1ra g YRa & A
TR B Y U ¢ SR HieRY 1 fAmir fafirs Spfaal ok
TSt GRT o5 T o7 URd § & 9o U@ gy dfe)
BN g AR (3fgam iR AT (oRm) ¥ g #@feR B
AS (S 3R HIHR)

TqIeRR (Hed Uc)

ST (IR T

NENEIRES))

HCRUA (FTRRIS)

Sun Temples in India have been revered since the Vedic
age with many hymns written for the celestial body. God
Sun is one of the nine Navagraha in India and the
temples were built by different cultures and kings. The
two most prominent sun temples in India are the Konark
Sun Temple (Odisha) and the Sun Temple at Modhera
(Gujarat).

Other places where famous Sun temples are built:
Martand (Jammu and Kashmir)

Gwalior (Madhya Pradesh)

Unao (Uttar Pradesh)

Ranchi (Jharkhand)

Katarmal (Uttarakhand)

Surya Pahar (Assam)

Domlu (Karnataka)

Gaya (Bihar)

Kumbakonam (Tamil Nadu)

Arasavalli ( Andhra Pradesh)

Ques 97. ANS (A) Solution:

HIAdTg-1 4% T GRS HGb AT

HIdareH! A TR & U & 1a U] Wil QR R
fora | Trcaret 3 ufdEf ok Teg R & $ TRl W
e 5311 36 31iel & A8 F ) ST SIre |




The founder of the Satavahana dynasty was Simuka.

The Satavahanas established their independent rule after
the decline of the Mauryas. Satavahanas ruled over parts
of western and central India. They were also known as
the Andhras.

Ques 98. ANS (D) Solution:

CRISIL ®T RUIE & AR 2022-23 T YR Sia®y1 &
7.8% e Bt IWE 8| U8 A fawa g &9 9
YRS T & W Bl FgH R ol gofird oog &
3fg & fog R & S1faE 3 ORka B

According to the CRISIL report, the Indian economy is
expected to grow by 7.8% in 2022-23. This economic
growth is mainly driven by the government's drive to
push infrastructure spending and likely increase private
capital expenditure.

Ques 99. ANS (C) Solution:
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Actress Waheeda Rehman, who left an indelible mark in
Hindi cinema with her acting, has been selected for
cinema's biggest award, Dadasaheb Phalke. Waheeda
Rehman is one of the veteran actresses of Hindi cinema.
He has shown his acting prowess in films ranging from
black and white to color. Waheeda Rehman has ruled
cinema for a long time with her acting. He worked on
screen with many big actors of Hindi cinema including
Dev Anand, Raj Kapoor, Rajkumar, Manoj Kumar and
Sunil Dutt.

Ques 100. ANS (B) Solution:
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In a thrilling race at the Buddh International Circuit,
Italian rider Marco Bezzecchi, representing the Mooney
VR46 Racing Team, took victory in the inaugural Indian
Grand Prix for the 2023 MotoGP season. This marked
Bezzecchi's third win of the season, cementing his
position as a top contender in the championship. The
race started with Prima Pramac's Jorge Martin taking the
lead at Turn 1, followed by Francesco Bagnaia and Marco
Bezzecchi. secured third place.




